

Home Search Collections Journals About Contact us My IOPscience

Explicit derivation of the propagator for a Dirac delta potential

This article has been downloaded from IOPscience. Please scroll down to see the full text article. 1989 J. Phys. A: Math. Gen. 22 67 (http://iopscience.iop.org/0305-4470/22/1/013)

View the table of contents for this issue, or go to the journal homepage for more

Download details: IP Address: 129.252.86.83 The article was downloaded on 01/06/2010 at 06:42

Please note that terms and conditions apply.

Explicit derivation of the propagator for a Dirac delta potential

Edward B Manoukian

Royal Military College of Canada, Department of National Defence, Kingston, Ontario K7K 5LO, Canada

Received 27 April 1988

Abstract. An explicit derivation of the propagator is given for a particle in a Dirac delta potential $\lambda\delta(x)$ by making a direct application of a variational technique followed by a systematic use of Laplace transforms. Although the solution of the corresponding Schrödinger equation has been known for years, the solution of the propagator has been obtained only recently.

1. Introduction

We give an explicit derivation of the propagator for a particle in a Dirac delta potential $\lambda\delta(x)$, where λ is a coupling parameter, by making a direct application of a variational technique followed by a systematic use of Laplace transforms. Although the solution of the corresponding Schrödinger equation has been known for years (cf Morse and Feshbach (1953); see also Lapidus (1987) for a recent treatment and variations), the solution of the propagator has been obtained only recently (Gaveau and Schulman (1986); see also Schulman (1986) for applications) by a procedure involving stochastic processes, Brownian motion and the Feynman-Kac formula (cf Kac 1959). The importance of the propagator approach to quantum mechanics was particularly emphasised by Feynman (1948) (see also Feynman and Hibbs 1965) and at present it is indisputably recognised as a very basic ingredient in considering dynamical problems in quantum mechanics.

For future reference we record here the expression for the free propagator ($\lambda = 0$) (Feynman 1948, Feynman and Hibbs 1965):

$$\langle xt | x't' \rangle_0 = \begin{cases} \sqrt{\frac{m}{2\pi i \hbar T}} \exp\left(-\frac{m(x-x')^2}{2i\hbar T}\right) & t > t' \\ 0 & t < t' \end{cases}$$
(1)

where T = (t - t'). For simplicity of the notation we will use units where $\hbar = 1$. The Laplace transform (cf Abramowitz and Stegun 1972) of $\langle xt | x't' \rangle_0$ is

$$L_{0}(x, x'; s) = \int_{0}^{\infty} dT e^{-sT} \langle xt | x't' \rangle_{0}$$

= $\sqrt{\frac{m}{2is}} \exp\left(-\sqrt{\frac{2ms}{i}} |x-x'|\right).$ (2)

This expression will be needed in the following.

0305-4470/89/010067+04\$02.50 © 1989 IOP Publishing Ltd

2. Derivation of the propagator

The propagator $\langle xt | x't' \rangle$ satisfies a well known (cf Feynman 1948; Feynman and Hibbs 1965) partial differential equation:

$$\left(-i\frac{\partial}{\partial t} - \frac{\Delta^2}{2m} + \lambda\delta(x)\right) \langle xt | x't' \rangle = -i\delta(x - x')\delta(t - t')$$
(3)

and for its adjoint we have

$$\left(i\frac{\partial}{\partial t} - \frac{\Delta^2}{2m} + \lambda\delta(x)\right) \langle x't' | xt \rangle = i\delta(x - x')\delta(t - t').$$
(4)

We take the partial derivation of (3) with respect to the coupling λ to obtain

$$\delta(x)\langle xt | x't' \rangle + \left(-i\frac{\partial}{\partial t} - \frac{\Delta^2}{2m} + \lambda \delta(x) \right) \frac{\partial}{\partial \lambda} \langle xt | x't' \rangle = 0.$$
(5)

Upon multiplying (5) by $\langle x''t'' | xt \rangle$ from the left and integrating over x from $-\infty$ to ∞ $(-\infty < x < \infty)$ and integrating over t from t' to t'' (t' < t < t'') we get

$$\int_{t'}^{t''} dt \langle x''t'' | 0t \rangle \langle 0t | x't' \rangle$$

= $-\int_{t'}^{t''} dt \int_{-\infty}^{\infty} dx \langle x''t'' | xt \rangle \left(-i \frac{\partial}{\partial t} - \frac{\Delta^2}{2m} + \lambda \delta(x) \right) \frac{\partial}{\partial \lambda} \langle xt | x't' \rangle.$ (6)

We integrate the right-hand side of (6) by parts, and use (4) to obtain finally

$$\frac{\partial}{\partial\lambda} \langle \mathbf{x}'' t'' | \mathbf{x}' t' \rangle = -\mathbf{i} \int_{t'}^{t''} dt \langle \mathbf{x}'' t'' | 0 t \rangle \langle 0 t | \mathbf{x}' t' \rangle.$$
⁽⁷⁾

This is our basic starting equation. (Equation (7) is the content of the classic Schwinger dynamical principle (cf Schwinger 1951, 1961, Manoukian 1986), the knowledge of which, however, is not needed here.)

To solve (7) we set $\langle x''t'' | x't' \rangle = F(x'', x'; T)$, T = t'' - t', and define its Laplace transform:

$$L(x'', x'; s) = \int_0^\infty dT \, e^{-sT} F(x'', x'; T).$$
(8)

We consider first the case in (7) when x'' = 0, x' = 0. That is, we consider first the equation

$$\frac{\partial}{\partial \lambda} F(0,0;T) = -i \int_0^T dt F(0,0;T-t) F(0,0;t).$$
(9)

This gives the Laplace-transformed equation

$$\frac{\partial}{\partial \lambda} L(0,0;s) = -iL(0,0;s)^2$$
(10)

whose solution is

$$L(0,0;s) = \frac{L_0(0,0;s)}{1 + i\lambda L_0(0,0;s)}$$
(11)

where $L_0(0, 0; s)$ is inferred from (2) to be equal to $\sqrt{m/2is}$. Hence the inverse Laplace transform F(0, 0; T) is (cf Abramowitz and Stegun 1972):

$$F(0,0;T) = \sqrt{\frac{m}{2i}} \left(\frac{1}{\sqrt{\pi T}} - b \exp(b^2 T) \operatorname{erfc}(b\sqrt{T}) \right)$$
(12)

$$b = \lambda \sqrt{\frac{mi}{2}} \qquad \operatorname{erfc}(x) = \frac{2}{\sqrt{\pi}} \int_{x}^{\infty} \mathrm{d}u \, \exp(-u^{2}). \tag{13}$$

As the next step we consider the equation:

$$\frac{\partial}{\partial\lambda}\langle x''t''|0t'\rangle = -\mathbf{i}\int_{t'}^{t''} dt \langle x''t''|0t\rangle\langle 0t|0t'\rangle$$
(14)

obtained from (7) by setting x' = 0, where $\langle 0t | 0t' \rangle$ is known and is given in (12) for t - t' = T. The Laplace-transformed equation of (14) is

$$\frac{\partial}{\partial \lambda} L(x^{\prime\prime}, 0; s) = -iL(x^{\prime\prime}, 0; s)L(0, 0, s)$$
(15)

whose solution is from (11)

$$L(x'', 0; s) = L_0(x'', 0; s) \left(1 + i\lambda \sqrt{\frac{m}{2is}}\right)^{-1}$$
(16)

and from (2), this becomes

$$L(x'', 0; s) = \sqrt{\frac{m}{2is}} \exp\left(-\sqrt{\frac{2ms}{i}}|x''|\right) \left(1 + i\lambda \sqrt{\frac{m}{2is}}\right)^{-1}.$$
 (17)

Similarly we have

$$L(0, x'', s) = L(x'', 0; s).$$
(18)

From (17) and (18) we may then readily obtain the solution of (7) for arbitrary x', x''. To this end, the Laplace-transformed equation of (7) is

$$\frac{\partial}{\partial \lambda} L(x'', x'; s) = (-i)L(x'', 0; s)L(0, x'; s)$$
(19)

whose solution is

$$L(x'', x'; s) = L_0(x'', x'; s) - \frac{\lambda m}{2\sqrt{s}} \exp\left(-\sqrt{\frac{2m}{i}} (|x'| + |x''|)\sqrt{s}\right) \left(\sqrt{s} + \lambda \sqrt{\frac{mi}{2}}\right)^{-1}.$$
 (20)

The inverse Laplace transform of (20) then gives (cf Abramowitz and Stegun 1972) the final result:

$$\langle x''t'' | x't' \rangle = \langle x''t'' | x't' \rangle_0 - m\lambda \ \sqrt{\frac{m}{2\pi i T}} \int_0^\infty du \ \exp(-um\lambda) \ \exp\left(-\frac{m}{2i T} (|x''| + |x'| + u)^2\right)$$
(21)

where T = t'' - t', and $\langle x''t'' | x't' \rangle_0$ is given in (1).

Acknowledgments

The author would like to thank Dr S D Jog for useful discussions. This work is supported by the Department of National Defence Award under CRAD no 3610-637:F4122.

References

Abramowitz M and Stegun I (ed) 1972 Handbook of Mathematical Functions (New York: Dover) Feynman R P 1948 Rev. Mod. Phys. 20 367

Feynman R P and Hibbs A R 1965 Quantum Mechanics and Path Integrals (New York: McGraw-Hill) Gaveau B and Schulman S 1986 J. Phys. A: Math Gen. 19 1833

Kac M 1959 Probability and Related Topics in Physical Sciences (New York: Interscience)

Lapidus I R 1987 Am. J. Phys. 55 172

Manoukian E B 1985 Nuovo Cimento A 90 295

------ 1986 Phys. Rev. D 34 3739

Morse P M and Feshbach H 1953 Methods of Theoretical Physics vol 2 (New York: McGraw-Hill) Schulman L 1986 Path Integrals from meV to MeV ed M C Gutzwiller et al (Singapore: World Scientific) Schwinger J 1951 Phys. Rev. 82 914

------ 1961 Proc. Natl Acad. Sci. USA 37 452